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2. 

CIVIL ENGINEERING J 
(PAPER-II) 

Match List-1 with L•st-IJ and select the 
correct answor using the coda g1ven bela" 
the lists 
List - I (Formlll of Representatio.u) 

A. 
Vu c>v - --ox 0,1' 

ov ou 
B ---o.r O.J' 

011 0\1 
C u- +v­ox o_v 

D. qfl 
21! 

List-ll (Context /Relevant t.o) 

l. Relevant to a velocity potential 

2, Rate of rotation about a relevant a' is 
3, Pressure gradient 

direction 

4 Continuity of flow 

a 
b. 

c. 
d. 

A 

3 
J 

3 

-1 

B 

2 

I 

2 

c 
~ 

3 

-1 

3 

II\ a 

0 

I 
2 

relevant 

Wluch one of the following c~presses the 
height of rise or fall of a liquid m a 
capill ary rube 'I 

4wd 
a. 

a cos a 

b 
a cos a 

411'« 

a4cosc:e 
c. 

wd 

d 
·wd 

-1<7 ws a 
" - SpectlicwergbtofUJeliqwd 

o. : Angle of contact of the liquid surface 

tr = Surface tension 

3. 

4. 

7 

If the stream function •v = Jx1 -l. whal ts 
the magniludeofvelocuy at point (2.1)'! 

a. 9 
b, 13 

c. 15 

d. 17 

Duriug a flood "' a str~aut of " idth 200 
(taken as rectant,'lllar section). dte gauge 
reading was found to rise b) 18 em per 
hour. What 1\'0tdd be the difference In 
discharges at two sections, each 250 m on 
either s1de of tha gauge swtion '! 

a. I 0 m3
/ s less at downstream section 

b. 75 rn31 s less at d0\\11Siream section 

c. 5 nh s less at downstream section 

d, :5 nl / s more a.l downstre.am section 

A nru plme WJih a sharp leading edge 
placed along a fre<> stream of Ottid no" 
Local Reyuolds number at 3 em from the 
leading edge is I01.What is the thtck.ness 
of the bou.nd31)' layer? 

a. OA7 mm 

b. ll.35 mm 

c .. 0.23mm 

d 0 12 mm 

Wluch one of th e follo\\~ng is the con-ect 
statement'! A streamlined bod) 1s one for 
which the 
a. skin friction is zero. 

b. thic~ness Of the body IS less th3J1 1/1()() 

of its length 

c. comers are rounded off. 

d separation occurs, if at al l. at Ute 
fanhcst do\\nstream pan of the bod)' 

A circulur pi pe of radius R carries a 
laminar tlo" of a nuid. The al'erage 
velocity is Indicated as the. local velocity at 
what radical distance. measured from the 
centm? 

a 0,5t) R 
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9. 

10. 

I !. 

12. 

b. 0.71 R 

c.._ 0,67 R 

ol. 0.29 R 

In 01e model of ~ lug)lwoy ~mlge 
constructed to~ scale of I : 25. the force of 
wuu:r on Ute pior wns mc:asurud ns 5 ~. 
What is the force (approximate) on the 
prototype pier'? 

n, 15.6 kN 

b. 25.3 kN 

e. 78 kN 

d. 90 kN 
A river nwdcl is constmctcd tu • 
horizontal $<:ale ot l: 10110 • nd u vertic:ol 
se.1le of I :It!(). A model discharge of 0.1 
m~f s would c.on-cspond to a discharge Iu 
the prototyl"'· of whnt mognitudc? 

'" 1 0! Ill 
3
1$ 

b. w' m'Js 
c. Ill~ m3/~ 

d~ 10 m·' rs 

Body 1\:l has twice the wcigbL twice U1e 
proje..c1cd :orcu ortd twice the do·•g 
codticient o(hody N. flo11 mony times ;, 
tl1e lOflllinol velocity <1f the b<Jdy l\.•1 io air, 
compared to tJJ:ot of the bodyN 1 

•. 8 
h 2 

c. ../2 
d. v../2 
fl rccl:tngular channel 3 "' wide is laid on 
~slope of 0.0002. Who:n U1~ depth of flo11 
in I he chnnncl i$ U m. what is I he overage 
boundory •hear stress (nearly) 'I 

"· o.~Nim' 

b. 0. 15 N/m> 

~. 3.0 N~m~ 

d. 1.5 N1m' 

/\ riaht·nngled triangu lar chnnnet 
svnomelricol in section ahnnt the venic.1l. 
c~lrir:s a discharge of 5 nl's wich a 
vclodty of 1.25 tu!s. Wltnl is the 
approximate V3luc of the Froude n ~mber 
nfthe llow'l 

•. 0.3 
b. 0.4 

13. 

14. 

15. 

16, 

l ofU 
c. 0.5 
d. 0.6 

Fill\\' ucpllts across • s lui~c ij4k At\: 20 m 
!Jtlll 0.5 'II· \\>11•1 is the disdtAI'gc (per 
mwewidth )? 

•• 1.0 m11s 

b. 1.4m11~ 

c. 2.0 m0/s 

d. 2.8 m11~ 
A o·.x:tangular oh.annd is 6 m wide :md 
discharges 30 m1 .. -J ]lte upstream depth 
is 2.0 m, aoceleulion due to grodly is HI 
m s<>. 1 hen, what is the specific 011ergy 
(opproxlmatc)'/ 

a. 2.5 

b. 0.3 

c. 2 .3 

d. None ol'tltc above 

For a smooth hump in a sub-critical Oow 
to Iunction :os a bo'Oad co..,stcd weir. tht 
height t.Z of tb~ hump abcvd tbc b<;d mu<l 
sati•IY which one orthe following 'I 

a. llZ ~ (E, - y, ) 

b. ol >rt,- E., 
c.. 82. !: (1!:..-y,) 

d. t.Z " (Er-E,l 
M• tch l.i~t 1 with l.ist II and ~el<let the 
.:O!Ttl<:L ans" <.T u•ing tl1e code given hell"' 
the list. : 

List · I (Flow Sect ion Type) 

A. Sh:ll lo1\\ parnbolic 

B. Triangular 

C. Rcclrutgulno· 

D. Tr.tpez,)ida l 

l ,ist fl (Crilir.:ol lliseh• rg<' Is 
J>ropnrtional to : ) )whcr~ y is th e derth 
of fowl) 

I. ~·(l''l 
'2. y"-' 

3. r 
4. )'1 

A 13 c: D 

~· . 2 ' 4 

h. 4 1 l 3 
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17. 

IS. 

c. 

d. 

2 

4 3 

4 

2 

Which om; of the following ~UIL<:mcnt.S is 
notuo~t? 

A conu·ol section in an op<m cltannel is tl111 

.site 
(~ where flu: Oow 1111011lil)' CUll h" 

con tro lied 

b. at wltich now is known tu be critical 

c. where the di~h•rge ean be measured 

d. where the specific energy " 
determined 

\Vl1:.t i• the 001'mal deptb in o wide 
r<:elnngul~r channel CllJTying 1).5 ,n2/• 
disc.harge ~I • bed slope of 1),0004 and 
Monning 's n 0.01 'I 

"· ll.l~m 
b. 032 m 

~. 0.-13 m 

tl. 0.50 Ul 

19. Flow h~ppens at a critlcol depth of(). ~ m 
iu a rectangular chaontl of -1 m 1v idlh. 
What L' the vnluc of disclurgc? 

•. 5.4 Dl}'· 
h. 5.1 m 1

/s 

c. 4.9 m1/~ 
(L 4..1 m1ts 

20. ln a 4 em di;u11oter pipeline oarrying 
laminar Oow of • liquid with it ~~ Hi 
cent-ipoise. the ' elocity at the a~i~ is 2 mfs. 
What i.s the sho:1r s1re:«s midwnv hc1wee)1 
tl~~: ""[] ond the axis ') · 

a. 0.01 N/m2 

b 0.0125 'lim' 

c. 0~0175 ~lm' 

d. 0.112 Nlm' 

21 A hydr3ulic jump occur~ at the toe of a 
spillway. 111e deplb belore jwnp is 0.2 m. 
Tho s.,qucnl depU1 is 32 m. Wh.11 is U10: 
energy dissipated 'in m (•pproximalc)~ 

'~ 27 
b. 11).5 

c. 15 
d. 42 

22. ln oonnection will• u grndu•ll)' \'oriod Or"' 
wiU1 not11li.on~ y,, ~ nnrmo I depth. y, ~ 

24. 

25. 

3 ur IS 
critical depth :tnd ~ = depth 1n the 
grndually varied Jlow, ;\l~tch List I with 
List U and scloct the correct answer using 
the eode given below the lists : 

Li>t-l 

A, V > y., >y 

fl. Yo> Y-:. y 

C. )' y, Yo 
D. y > Yo'' Y~ 

l .ist-11 

1. M, 

2. s, 
~. M, 

~- s, 

•• 
h. 
c. 

d. 

A 

~ 

2 

.. 
2 

B c D 

2 3 . 
~· ·' 

' 2 

4 
[u a \\' id..: rt:et.utguhtr ~:banuel. au increase 
in tl1e n01n~n l depth 20''• con·c:sponds to 
how much (npproximare) incte:Jiie in 
discharge? 

:1. 12"o 

b. 20'!• 

c. 36~. 

d. 4S% 

A 1)1.--n>tock i~ 2000 m long and the 
vei<Xity ofpresrurc wave in it is 1000 mls. 
W >tor hammer pressure bead tor 
in811mfancou.t( clo~turc. of Vli1vc nt the 
downstream end !If the pipe i~ 60 m. JfO•e 
vulv~ is closed in 4 s. them wh•t. is the pc:tl;: 
"nlot' hammoqm:st~ut-e in m of w•~l'? 

u. 15 

b. 30 
c. 60 
d. 120 

At n rated capacity of 4-1 cumec, • 
cootrifugal pump devdlops 36 m of h,;ad 
\Vbcn operating oL 725 r.p.m: Whot is its 
~pccilic speed? 

•. 327 

b. 255 

c. -~5() 
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26. 

27. 

28. 

29. 

~(). 

,[, 43 

Tn an air flcm th" velocity ;, men.surcd by • 
Pi tot tube ( coeflic1enl ~ 1.0). The moss 
density of air can be take" as 1.2 kglmJ, If 
Ill~ Jtead difi'ercnce in • vertical U - tube 
holding water is l2 mm. !ben "hal is th" 
velocity of air in m!S 

(1. LO 

b. 14 

c.. 17 
d. 20 

A •ingle-aeting •·ccipmenting pumj> Ita~ a 
plunger diameter 25 em ond •troke 35 em, 
The •peed of the pump i& 60 r.p.m .. and it 
dolivers 165 Utre!lsecond of water. Wl~t~t 
ls Ulu valu<: of tho tluwrelic:~l discharge '! 

<L l(i.l; lp• 
b. 17.2 1ps 

.:. 18.0 lp> 
d. J8..11ps 
l'o generate HIOU 1..\V under a head of8J 

111 whik working ot a speed of ~40 l . jlJit .. 

wh•t type of turbine is suitoblc? 

lL Pdlon 

b. Kaplan 

c. Bu lh 

d. Fro nci~ 

During a cettniu w.:~k a powc:r plant lUJtt5 

out 8.<100,000 kWhr and lha poak load 
durins the week is !00,\MI() kW. What i~ 
tl1e load factor durfng 1!1<0 wec:k 

• • 4(JII. 

b. 45•,, 

c. 50"·· 
d . lin% 
A. olmldllrd. gtolllld·based ev~poration ptm. 
corre«poncling to tnd ian Sl,.ndard•, ;, 
iuslal led al ~Jc banks of a surfac<! 
11{."Scrvoir. 'n1c wnler surf.tc.c area on a 
p31ticulor day is I On beacf;1res. l'he 
recorded "''~POIOJtion loss from ~~~pan. on 
of certoin day. is oc.ady 4.0 cni. What is ll1o 
anticipated evaporation loss lTom the 
reservoir lo r tl~1t d>y'l 

" · (1.8 to 2) 104 m·' rc'f dny 

h. (2.5 tel 2. 75) 10'1 m3
J>dl' do~ 

a. (3 .\) lo 3.25) 10'1 m1 pc'r doy 

31. 

32. 

34. 

.t Cll IS 
d. (3.810 ·1.05) 10" m' per <illy 

Who! is the probable lllaXimum 
prudpibtion ( l'MP)'I 

•· Proj<>:t.ca l>rcc>i11iU•tion for u 1(10-yr 
rctum J>Cl'iod 

b. !'vb xilnum prcxipil~tion for oil pnl 
recorded storms 

c. Uppe1• tiuut of rainfall wiLich is 
justified climotologil!llll)' 

d. Ell'cctivc J>crccptiblc w~lcr 

Which one of the following i.< a metl1od of 
cxtt.onding Ute lungtb or .word for • 
Ircclucncy c urve 111 a stnlion '1 

a. Double lVI~~SS Curve Jnl!lbod 

b. 'l'he Slahon Y ~,. methcxl 

c. Thies.<cn method 

d. lsohyetal method 

M.d~h Li~t I w lth List fl ond select the 
c.vn"VCt unS\\ c.T usiJ1g lhe cudc given helm\ 
the list• : 

Li•l - J (Puram•ler) 

A. Roinfall lJJit.uity 

B. Rainl<•ll Excess 

C. Rainfaill\ver3~ing 

D. !'vla..s Curve 

List- Jl (Rl'lalable 't'ernl) 

\. lsohyel• 

2. Cumulat ive rai1Lt".1 1l 

3. II y¢lograph 

4. Di••.:c1 RunoffhydrQgrnph 

.\ B (' 

•• I ' _, 2 

b. 3 4 I 

c. ~ 

~ J 

d. 3 4 2 

I) 

~ 

2 

2 

The lo!JIJ obse~ved ruuolf volume during • 
4 hour ltiOml wilh .1 uniform int.en~ity of 
2.g cm/hr is 25.2 11)6 m3 from • hasin nf 
280 kn1

2 
"'""· What i.< ~.. ave,.ge 

infiltrJitiou rate fo1· tl.1c basi11? 

• . .:16 m mlhr 

b 48 mm hr 

c. 52 mm.11f 

d. 55 mnVhr 
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35 

.<6. 

37. 

38. 

3!1. 

The rainf~ll hyctograph show• lhe 
v~natlon of which one of the following'/ 

a_ Cumulotivo depth of mlnfall with time 

h. RtoinfnU dcpUo 1vitl1 Ale" 

c. Rajnfall intensity with lime 

d. .Rainfall mten! ity with cumulative 
dep~o ofrainf• ll 

ln conslmctins a 4 hm1r rynthetic unit 
ltytii'Ogril(lh foo· • b>s in. the log time is 
cstimotll<l to be 40 hours. \Vbon will tlu! 
penk discharge m the •ynUtetic unit 
hydo·ogr~ph occur from start of Ute sl()nn'l 

n. 31) hours 

b. 40 bouf5 

<:. 42 h OUI'S 

d 44 h<)urs 

Consider the followrng st::J.tcments. 

Onl~ U1e surf;oto Oow constitui.eo Uod 
Oood hydrogmpb due to on i<lolalcd 
~torm. 

i . .For ;~ g iven storm .. the flood penk is 
dependent on the dr~inoge density. 

3. F:m shr~ped cntcluucnt.t. p.ivc r~ arrow 

hydrograph with low j>C:.1k. 

Which of the stotcmcnls given ubovo is/ora 
correcr/ 

•· l. hnd ~ 
b. 1 ond 3 

c. 2 only 
d 3 on ly 

A uru'l hydrograJih [or u w<llershod •• 
triungulnr in ~hape with base periool nf211 
'"'""'· Tbt area or the wale!llh.ed i~ 5(){) hn. 
What ,. the peok dischaose in m1ihmor'/ 

• . 7000 

b. 6000 

c. 5tKIO 

d. 4000 

How ts the av~;.:r.:tge Vtllocity ~tloug tlus 
vertical in a wWic s1re:u11 ubh1inecl? 

a. By '"'"''aging tltc velocities ot 0.2 & 
O.R olepth fmm surfnce 

b. By m""auring vclo.:ity ill 0.6 dvpth 
below the surfnco 

c. By m=u•'ins vclodty ut hJU- th~ depth 

40, 

41. 

42. 

43. 

44. 

5 ul IS 
d. B) meosurins velocity ot OJ times the 

depth be low th" snrfnce 

G-roynes ore adopted for river bank 
prolealion works, \Vhan it is placed 
Inclined downsti'Cllm it1 U1~ direction of 
.Oow in the rivor. it ;, d ... ignu("d ·~ wruch 
one oflhe following'! 

• · Repelling groyne 

b. AUrucliug groyue 

c. Neither repelling nor altrnc-ting groyne 

d. F'ixed groyno 

TI1c SotJUcnl dcl>lll rntio of " hydrou[jc. 
jump in n rectnngulnr chnnncl is 16.48. 
What is the Froude number (approximate l 
al tlle beginning of the jump1 

a. '1,0 

b. 12.0 

~- s.o 
d. 8.0 

The quantitntive • t.-lternent or the balance 
b<:1wct'n \~a~ter ~tlins ~mi (O!;se.-. ln a f.k'flllin 
bo.in during a •pecified p<:riod cof tim" is. 
known •• which one of the lhllowing 7 

I. Watur budgot 

2. Hydr~lo!!l~ bud(!et 

3. Groundw:oter budget 

Scl~t the c~n\:ct nn.wer ll!ling tho code 
given below 

~ 1 only 

h. 2 only 

c. 3 only 

d. None of the above 

A soil s>mplu hal> an ""cltnng.:ablesodium 
percentng_e of 16°1.. its electrical 
condn.:.tivity is 32 noilli - .''vlhos/cm nnd pH 
of 9.5. llo" i• the: •oil cla••ified ? 

~. S011ine soi I 

h. Saline - a lkaline •oil 

c. Allw line soil 
d. None of the ab!1VC 

How Is the determination of oquifer 
paromelers S (Storogt Coefficidll() 3nd T 
(Traiumissivlty Cocffici~nl) donc1 

l. B~ tci'Ording 01c drawdm• n in a 
pumpo;d well at dift'ct-ent time 
intervals. 
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45. 

-16. 

H . 

48. 

2. By ree<:>rdlng th~ drowdown m 
insWted ohser\·ation wells at diflerent 
time intervals. 

li<>lect lite correct answer us in!' tl1e code 
given b~tow 

a. I only 

b. 2only 

.:.. BoUt 1 and 2 

tl. NeiU1er I nor 2 

Consider lhe following statement•: 

An nquoduc.t is a crQss drninage work iu 
which 

1. A C(lonl i• c:micd over the drainage 
chann~l 

2 " llmiuagc ch:mncl is cnrriod ower tho­
C:ln:tl 

3. both dminago channel and canal 3re nl 
the same level. 

Which of Ute statement~ given n\love islore 
currect'l 
a. 1 only 

b. 1 nod 2 only 

c. 2 ~nd 3 only 

cl I. 2 and 3 

u· tho dischorg" requirud for diffcn.1lt 
crops ;, 0.4 cume• in the field and the 
c•pacity Jaclor and Lime !actors are 0.8 and 
tU respectively. Uteu wlwl is Ute design 
discharge for !11o dis l!ibutoo)• l its ho:~d 

n. O.R() Cumoxs 

1>. 0.16 Cumecs 

c. 1.0 Cume.:s 

d . 1.2A Cumccs 

Wltich one:: of tlt~ fo llO\\ ing is the purpos11 
of providing lhe downstream sheet pile 1n 
"barrage? 

a. To cool!ol failure due. to piping by 
high v~lue of c.'\il gr:~dient 

b. To oontrol failure due to scouo· 

c. To stop lllilurc tluc II> sliding 

d 'ro stop fuiture due to uplilt tlfessure 

What are U1c recnmmended •ett.ing option• 
Qf IIJI :~djust;ohlt- proportional nJodutc 
work<d witlo an >!pen tlum.: IYt:>C ouflt:L7 

I. Y lU 

2 9110 

-19. 

50. 

51. 

52. 

3. 112 
-1. 513 

(i nl 15 

Scl"'-'1 U1c eon 't:I.\L answer Using llte code 
giveu below 

a. 1 and 2 

b. land 3 

c. :. and 4 

d. 2aod4 

The Uood plain of o liver cao•iies a 
discharge of 2000 ruJ/•. What ""' tbc 
values of tho: meander lcll!lth :md do m inanl 
now width? 

• · 160 mAS no 
b. 11!0 no.42 ut 

c, 200 on. 38 no 

d. 220 m. ;\6 m 

Whal is culrorbicatlon of lnkcs primarily 
due lo '/ 

a. MultipJjcation of"ba~l101'ia 

b. E.xc4:ssivc inflow uf uutricut.s 

c. Increase in l>enlhic or&anisms 

d . Thennol and dens ity C\lffi!llti 

]\lAtch List 1 "iUI Lil<t lT .ond sv)t;<;l tloc 
con-cct :1nswer u11in_g Ute ~ode g-iven heiO\'V 
tl1c I isiS ; 

l, i.t • I (Paraml'lor) 

A. Ex.<:<iss sulphates 

B. Lack of iod ide 

C. Excess hardn<:Ss 

D. llwe<s dis~oh·ed m<ygen 

Lisl · ll(Trn tlud) 

I. Great<.T soap eoruumtltlon 

2. Laxotive eiTect 

3. Goitre 

4 . CoJrosion of t'ipe• 

A B c D 

a. 2 3 4 

b. 4 3 1 2 

c. '2 3 I -1 

d. 4 J 'l 
'The c-oncentration of hnrclnes~ producin.g 
cations estimated using whiclt one of the 
following 7 

a, iondu~th ity mett:r 
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53. 

b. pllmeter 

c. SpcctrophotornetoJ' 

d. Flume photumcler 

Whlnh one of Ute followrng treatments L< 
e<:onomic~lly effective in the control of 
guinea \VOrm di80a$of! 

(~ Ch lorinlllion 

h F'ihntinn 

c. Ownotion 

d. Sooimcnl<ttion 

54. 1\II.Mch List I 1~ith Lis1 II and $clo<:t tho 
cun-ccl -an.•f\\ c t us in~ nt!t y be the. C4Jt.IC-

D. Specific gravity 

L ist-Jl {Limi riug Value) 

I. 120 

2. 100.0 
3. ~.0 

4. 2.6 

t\ a c 
a, • ·' 2 

b. 2 4 3 

c. 3 4 2 

d. 2 ·' 

7 ul l5 

D 
4 

I 

1 

.j 

given helow tlre li'~ : 57. l\ lalch Li;t 1 with List 11 and select tile 

l...ist • T (l)isiu red nut) 

1\. C'hloriuc 

R. ( lznne 

C. Iodin" 

D. 1i1tJ'n·violet rays 
l.isi - II (Property) 

I No carcinogenlcs result 

2. Jnufii:<tiYC m the prcs(..'t,C:C of 
suspended solids 

3. Not .tll'cctcd by lito Ammonium ion 

4. Feasibl~ residual content 

A 13 (' D 
n. 4 3 I 2 

b. I l ~ 3 

c. ·I 2 1 3 
d. ' :> ~ 2 

55. What ts illc prodorninating coagulation 
mechaniSm for raw water having blgb 
turbidity and high alkaliilltY! 

u, IOnic Ioyer com pres.-; ion 

b. .\dsorption and charge neutr:t.lization 

c. S" <!t:Jl coagulation 

d. lnter particle bridgang 

56. Match l.fsT l 1\ith Liilt II and select lh<> 
corr~ct answer using J he code given helow 
the li)lts : 

List - l (Physical propertl('S of lill~rlng 
mater lnl fc1r trickling niter~) 

A. Crnsh·ing stl'ength. N mm' 

fl. Hurtln""s 

C. Pa-c\3-nl '' c..1r-

com:cl answer using the code given below 
tb.: lists : 

Li~t-1 (Contamioanl) 

A. Suspended solids 

B. Nutricnb 

C. Heavy metals 

D. DissniYed inorganic solids 

Li~l-11 (Environrncnl nl ~ignifiran re) 

L May c.'IU•c cu~·opbi~U~tion 

2. Toxic. may intorferc: wi th dlluonl 
t'CU$C 

3. Mny interfecewith ~muent reuse 

4. Cause s ludge dep<tsits 

.\ B c D 

•• 4 2 -· 
b. 2 ~ 4 l 

c. 4 3 2 1 

d. 2 1 4 3 

S8. Which one of lhc following !1\Cthods ol' 
solitl waste mnnngemcnl C<.msen''-"8 t.·m:r~y 
mo•t efficiently in the ronn of gas or oil?-

a. incineration with heili rccoVe:J)' 

b. Com1•ostin!! 
c. Fluidized- bed incineration 

d. Pyrolysis 

59. M.1tch L;,l 1 with List ll a.nd acl""l Ute 
corTec.l answer usiog ille code given below 
Ute l isl~ : 

List · I (Equotion/Mot·hod ) 

A. l'vfunning's Equ.11ion 

B. Darcy-WeisbAch &1uation 
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60. 

61. 

62. 

C. Flordy Cro•s 1\.fcthod 

D. Rotion•l },Jethod 

l..i•t - IT (ApplicatiOn) 

I Fdctiono1 bead loss esbmatioo In prpe 
flow 

2. Sanitary sewer design 

3. Stann sc\Var design 

-1-. Water dislrilmtion systern dcsig11 

A B C D 

n. '2 4 3 

b. 

t!. 

d. 

I 

'2 

<I 

I 

4 

3 

3 

2 

2 

3 

To convention>! activnled • ludge proce•s, 
MLSS is gcm:rnlly kept jp " 'hich range? 

n. tOO mgi/ 

b. HlO() · 2000 mg11 

u. 21)00 • 3(100 mgl/ 

cl. ;11)00 • S(W)O mg./ 

I\ latch Li<t I with Li•l TI 4nd select the 
correct answ'-r using I he code given belo" 
tl•c li<l~ 

Ust ·I (Pothogen) 

A Boct~'1i• 

B. Vitu! 

C. PrQto~o• 

D. Helminth 

List- n (Epidemic) 

I. G<lSU'o<>ntcritis 

2. ("holtro 

3. \Vorms 
~ . Polio 

A 

'2 
h. 

'2 

d. 3 

0 

4 

I 

l 

4 

c 
I 

4 
.j. 

D 

3 

'2 

3 

2 

Whtch among the followmg bnng• about 
the Hnznrdou.< Waste Man"gcment and 
Handling Rules Lo IJ1di•'? 

"· Central Pollution Ctlntrtrl Board 

tr. Minis(fy of l;nvironment and Fo'""ts 

c. l\tini•try of Urb.1n Development. 

63. 

64. 

05. 

(if,. 

8 of 15 
d. Mlni•try ofRurnl D<-vclopment 

The doily cover ofMSW 13udfills consists 
of which ooe of the following? 

' · CiliUJluCWd ~.,~ 

b. Geom;:mbrane 

c. Geote~1ile 

d. Gaocompm ito 

M~lcb List J with List l1 •od select llu• 
com:ct •nswcr using the code given below 
the lists 

List-1 (Atr l'olluhmt) 

A. Pnr1.iculntcs 

B. C~rbon monoxlde 

C. Sulphur oxides 

D. PhotochcniiClll oocidonts 

List-ll (Ln patt on Human fl~alth) 

I. hnp•in; tr•n•t>ort oro, inl)l()lldstrearo 

2 lrrit.Jtion of mucous membrane• of 
""l'ir.rtory trdct 

·' · C•uses coughing. shortm:•• of brenlh 
hoadache etc. 

4. Cons"" respirat.or:y illne<s 

•• 
c. 

A 

2 

4 

2 

B 

3 

3 

c 
.j. 

2 

.. 
2 

D 

Wlrieb type ol' plume ""'Y oe<:ur during 
"inwr nig,bts7 

a. Loopin,g 
b. lnversion 
c. Coning 

d. Lofting 

A machine in a stotl plate f>l)ricating 
industry is found to bo producing • •ound 
li!\'CI of 50 dB. In the e:-']lantion pions one 
niore $UCh machine needs lo he added, 
Whnt ,viii be the combined noise level? 

a, 80 • 100 dB 
b. 101 - 150 dB 

c. 51-70dB 

d. -10 • so dB 
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()7. 

68. 

Wloich one of lhe following is the correct 
sutement'l A heterou·oph is an OlllaniSril 
that obtains 

"' its cell e<~rbon from an inorgaruc 
souro..:. 

h iJS 011org~ (\·om tho llxidati<m nt\impk 
i.floo·gauic compnunlls. 

c. its cell carbon a.~ well os it• energy 
. &om orgauic mauer ~ 

II its en erg) lrom • natural ecosystem. 

1 he term ·biological magnitiC.IlLion · 
1ndie<~tes whjc.h one of the following'/ 

a. Lik.elih110d of im:.-ensin,g ~17..: ol' 
animals during evolutiqn 

b. .J1, lognilicaliou pcrt:ouoing to 
1nic..ruscopy 

.:. Aceumulntion of pollutants in soil 

d. Accumulation of po llulttnts in 
"ucce5sive consurners 

69. Whitb ono of Ulc following is the cu<'r<'<!t 
state:ment ? 

70. 

lloo CQnt:od pressure distribution hclo1\ 
rigid footing on the •url)oce ol'" cl• y •oil is 

•- uniform for th~ full w idtb 

b. maxjmunt :tl UJe Ct:nltt: and ll1itti:mum 
at Ute edges. 

c. ma.~murn nt the edges and nlinirnum 
at Ute centro. 

tl uf an io~egulor shape. 

noe fo llowing «Jils are compacted at o.loe 
•arne compnc!Ne etfort in the field. Which 
on~ of th~ JollowU\g is Ute correct 
sequence in the increasing order of thclr 
mnximum dry density'/ 

n. S ilt cllly - Clay • Sand • Grovel sand 
clay mbctnre 

b. Sand -Gravel S>nd clny mixture· Silty 
clny· Clay 

<>. C lay · Silty clay • Sand - Gravel sand 
clay mi.xiUre 

cl. Sand · Gravel sand clay nobc:hore- Cl•y 
• Silt)' Cla)• 

71 . Cons idcr the following statements 

On addition <>f lima to n clay •oil. 
generally 

l. M.D.D. aud strcngUt boU1 increase. 

72 

74, 

75. 

? <>I IS 
2 MD. D. doorenscs but •trcngth 

\ncrease!i. 

3. M.D.D. and O.;VL.C. bolh incr"""e, 

\Vhich of lhc ~tnl~mcml't gh1cu uhm~ tM 

con-.:ct 1 

-a. 1 0 111) ' 

b. 2 only 

c . 3 only 

d. Ncmc ofU1e above 

From .._ no\\ ncL which of tbe foUowing 
infurmotion c-an be-obtained " 

L Rttto uf' flo~> 

2. Pore water po·essure 

3 B• it graolient 

4. Pcrm<'nbmty 

Sef~l tho correct an>wcr using !Jtu code 
giv~ below . 

•• l, 23 •nd 4 

h. I ~ 2 a net 3 

"' 2. ~ :onJ 4, on ly 

d. l Oltly 

Con•itlcr the foll<•"' ing stlot.cnwnt.. 

l. Org:a.Uc matter inc1'e•ses the 
permeability of n soil 

2. Bnlr:opped air d~creases 
pc:mtenbility of a si I 

Which of'thestalements given nhove islnre 
con-eel? 

" · I only 
b. 2 only 

c. Bolio I ~ncl 2 

d. Ncitlter l nor 2 

C'nUJ;iller 1~e liollowing statements 

Dcwntcrin£ incrDllscs tho slopo Jlabitity of 
a cohesion less soil mainly because 

l it couses cb•nses in pll 

2. it rcducC'5 pord water pressure . 

Which uf the sl~ temrnts given abo~<: islare 
ojJn'l::ct ? 

a. l only 

b. 2 only 

c. BoUt l toot! 2 

d. NeiUt~>1' 1 nor 2 
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76. 

77 

,,,_h 
i .. . -~ ..... , 

. ... _, 

The virght compression curve for a soil is 
shown in tlte figure above, What i• the 
compression index ofthe soil ? 

a 0.3 

b. 05 

c. 1.5 

d. 15 

What does the t'<ln.finit~g pressure used in 
triaxial compreesio11 tests 011 ru1 

undisturbed soil ·sample represent? 
a, The in-situ tutalnormnhtress 

b. Tlte in-si h1 total lal'enil stress 

c. Tite in-situ effective a\•erage pnncipal 
stress 

d. The in-siru shear st.ress 

Consider tlte tollowing statements 
Liquefaction il: ·a phenomenon 
I. ol>served in fine sands 
2. associated with development of 

positive pore pr..>ssure. 
Which of the statements given above is/are 
eoo'CCt ~ 

a 1 ruily 

b. 2 only 

c. Botl1 l and 2 

d. Noitltcr 1 110r 2 

78. A static cone penet:ralion test is 'll.>'llally 
eondud·ed 1vhen Ute slmcurre 1s likely to 
be founded on which ofthe following? 

a. Slmllow fotmdations 
b. Pile foundations 
c. Drier foundations 

cl. Improved growtd 
79. A machiJte rutd iiS f01mdalion weigh 981 

kN and hlU! a sprir1g constant k = 10,000 
kN/m. What is the value of damping 
coefficient C, if system is to bo critically 
damped 'I (Acceleration due l.o gravity g : 
9.81 mii) 

10 ofl 5 
a. I 000 I:N sv'm 
b. 4000 ki'll sim 
c. 2000 kN s/m 

d. 8000 kN s/m 

80. Cottsider the following statemenffi 
I. Th~ b1)81'jng capacity of a fooling on 

~lay d.;.es not sig;nificantly gel altered 
by the l'fe~ence of water t·(lble 

2, The bearing capacity of a footing on 
sat:UJ'ated clay ( 4> ; 0) is a function of 
its size. 

\\'hi cit oftlte statements given ubove is/are 
correct? 

a, I only 

b. 2 only 
c. Both L nncl 1 

d. N eithe:~· I nor 2. 

81. Which of the foUbwu1p; l)~Jes o f piles is 
likely tolmve l.h.e highest load capacity in 
compression? 
a . Driven pre- cast concrete pile 

b. Pre - cast pile placed in a pte - <)dlled 
bore 

c. Driven steel pipe.pik 
d. Steel pipe ptle placed i1.1 a pre-drilled 

bore 

82. What JS tlte value of Mgative ski.J1 friction 
for a group of piles of 30 em diameter, 5 
M long and spaced at 80 em c/c and 
ltavilJS co)teslve strength of soil as 25 
kN/tn' (Neglect bottolll contribution in 
bearing capacity) 
a. 9'25 kN 

b. 950k.N 

(L 975 kN 

d. 1000 kN 

83. If the coefficient of •cti ve emth l)re&sltre is 
113, then what is 1he value of 1he 
coefficient of passive earth pressuJ•e ? 

a. 1/9 

b. 1/J 

c. 3 

d. 
84. Consid"!' the folJowutg si11Um!ents 

Criteri~ for satisfoclol)' perfom1rutce of 
footings are tl.tat the 
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85. 

86. 

87. 

~8. 

soil ~upporling the fuoting mut t bo 
s~fe against she.tr lailure. 

2 footing mll!lt not settle more thu.n ~ pre-
specified value. 

:; footing m•t•l be rigid. 

~- fooling sho uld be abow wnt~'l' lllble. 

Whith or the ~t:m:mcnl' given nhove nro 
COITOCt 1 
o. 3 and~-

b. I nnd 2 
c. lnnd 3 

tl 2ond 4 

\\'by are weep holes provided at the b;lck 
ofn:tniniog wn lls'! 
<L T(l rc:ducc tbe ntlivc earth IU't:MUft: on 

lhe walls 

h. 'ro n:duct: •he I>Uild • Ul) l)f hydm•t.ttic 
J)l'e~$UI'C 

c. '1 o provide better eompaclion 

d. To incret~Se lho pas;ive e:o.rtli pre,,;rure 

An increase io compaction affort will lend 
to which of the following? 

R. Dc:crc.:aso. ju both t.I.Jo optimum ruui~lul'c 
content IOMC'l •t•ll maximum dry 
dc:nsit y 

h. Decrease in holh the optimum mOisture 
conten t !OJ\IC) and increase in !h .. 
maximum dry deusity 

~- lnercase in the l))llimtnn moisiUte 
<:onten l (OMC) and deci'CIIsc in tile 
m:tximum dry tkltSity 

d. lnoroase in both tl1c oplimllm moi5turo 
contont (OMC) and mmnmwn dry 
den•ily 

A 20 m ch~in wos found to be 10 em too 
long a-tlerchalnmg n disunce of2000m. It 
was found to be 18 em too long nl 01e end 
vf th~ day'$ work 3lk-r chaining • total 
distance of 4000 DL \\lui ts the U11o< 

distance if the .;hn in was comet before the 
commencement of the day's woo·k 'I 

"· 3962 m 
b. 4019 m 

c,. 3981 m 

d. 4038 m 

l'here are len inSirument >lations occ11pied 
in ~occcss1on do ring a lr:JVenoa survey . An 

89. 

91. 

ll o l 13 

observer mnlres equal error in each s!lltlon. 
the m•gnitode of which is /lfl in each 
inslllne<: at all the sl.11i\lllS. \Vl'"t is 01c 
probabie erJ'OJ' of the nnal bt:itrins •t tbc 
end of the 11'11VCJ'Se 1 

a ~ 101>0 

b. - 100 (&1)2 

c,. = Hl~ 

d. : .JiO 6Q 

Which r,f the fC!Uo" lng illlltrl!mcnl~ have 
both horizon glass • nd ind<:l< gills•? 

1. Optical SCIU3J'e 

2 !.,inc ranger 

3. l3o~s•"lllnt 

4. Pedom"ter 
S~ecl tlw correct answer u.•jng the code 
give11 btlow 

a. 2, ~ and 4 

b. I. h nd 4 

c. l :uod 3 only 

d. 2 and 4 only 

Which one of tbe following in.strumenl~ 
C:IJl be used as a clinometer'! 

a. Pri~m ~qu>rc 

b. Line ranger 

c. Abney level 

d. Optical squao" 

Match Lisl I 1<'i1h Li..t 11 and •elect the 
cont~ an~wer u~in& the ~odu given below 
the Li•L, . 

L ist -I (lnstrum~nl ) 

A. Suhtm•e har 

B. Sc:xtnnl 

C. T•ngent clioometer 

D. Range Cinder 

Li>1 11 (t 'se) 

I. To d• tcnlline diffurcoce in el..vation 
between points 

2. To dclc•minc hlll'iZontnl distuuclt: 

3. To measure angle~ 

4. To est~bJ.ish ri$ht angle~ 

• .\ B C' D 

a, 2 4 i 3 
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93. 

94. 

b. 
2 

"· 

3 

3 

4 

2 
1 

2 

4 

4 

3 

A snllor. slooding on the deck of a •h1p. 
just sees the lfght beam ftom a lighthouse 
on I!Io shore. lf lllc hoight of lh~; 5ailor't 
eye and of the lighl beam at the lighthouse. 
ohove lhe •ea level. are 9 m and 25 m 
r<:Sp<.'<:Lively. what is tl1e dislnnce between 
the sailoo· aJid tl1o lighlbousc ~ 

11. 29.8 km 

b 3 1.1 ""' 
c:. ~1.9 km 

d. 33.2 kin 

Whioh one of tile following slatemems 1> 
corrtcl1! 

a. The a~ i• of plate level should b" 
paraUciiJ> (he vertical axis. 

h. 1 he axis of siJidiotg level must bo. 
parallel to the borizon!Jol axis. 

~. Tho axis c,r I he ohilutle level must be> 
perpendicular to the line of 
coUimo! ion. 

d. The liiU' of commnlion ll\Usl b~ 
porpondicular to lhe ptalo l<•vol a:ds. 

~ l31ch List 1 with Li.~t tl and selec>t tlto 
.:<lrr..:l auswcr using I he code given bclo11 
the lists : 

Lisl · l (Triunguloliou Station) 

A Moin Sl•lliun• 

B. Subsidi:uy 

C'. Sn~elllte Stations 

D. Pivot S lations 

List-n (Delinilion) 

I. Control poinls oflriaugublion nel"orlc 

2. Polnl$ no1 for observation hul for 
continunt ion of trim•gulat iou nelw()rk 

3. PolniS to provide ~dditioJial my• lo 
inlcnlected pomt~ 

-4 . f>oinlll close to ma·in st;JI.ions to :~void 

intervening obs1ructions 

A B C D 

•• 1 J 4 2 

b. I 3 2 4 

c. 3 4 2 

d. ;> 2 4 

Q~. 

96. 

97. 

11 ofU 
1vl41ch List I with L isl D and selecl I he 
correct an~wer IL~Ing lhe eode given below 
lbe IL•I• : 

LiS11CTerml 
A. Appnr~nl KOI>r do _I' 

B. SldertoJ day 

C'. Tropical y~•1· 

D. Sidereal yenr 

U>t n (D~Onil ion) 

I. The time inl<;rvol betw<:<:n lwo 
succcs&--ive- upper lr:msita of lhe rust 
point of Aries over lheYaml: meridinn 

2 2. Time: Jntl!f'Vnl betwtX:n lw'"• 
succb;Rive lower trnnAit'\ llf the center 
of the Sun across Uu:o sante meridi~n 

3. ~. Time intcrv:1l •,etween two 
~UCCC$~ive passage of the Suoto\'er llot 
meridian ofany of Uoe fi.~eci slallj 

4. 'J'he time interval between two 
successive v10:mnl ~tuinoxes. 

A B (' n 
a 1 2 , 

~ 4 

b. 2 J .j 3 

c. 2 1 3 .j 

d. 2 .j 3 
lf tlte menn lcmpemlure of Sun ·s •urtace 
6000 K and ),m of ils r~diatiou is 0.5 wbal 
is the mean cempero lul\'l of Ea~h surface 
fur which ;,m i> LOO m. oecordiJIS I.Q 
Wien ·• Di~placcment Lnw in R01noh> 
Senitor Concept'/ 

a. 2s •c 
b. 2s •c 
c. 27"C 

d. 30 •c 
Nllltch List I with List U and scl<1el lite 
con-ec.t answer uKing lhe code gJWn belmv 
the I isis : 

List · I (Type (!f\onst·ruttion) 

A. Bituminous runcadam 

B. Deo~JSc bitumiJI9us mflt<ldnon 

C. Bituminous concrele 

D. Bilumen mnstic 

Lise .. n (Bint.lcr Cuntcnt Ccn~r-nlly 
Spedli£'tl) 

\. S· 15"• 
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98. 

1. 3- 35°o 

3. 4 - 45° ... 

4. 45 • (,()O(, 

A I> <.: I ) 

"· 2 I .I 3 

b. 4 J 2 

c. 2 3 .t 

cl. 4 2 :l 

lf a rood ~urtilce ;, Jdequol<>l)' 
'IUperelevAJed on hori:ron1al cnrve. which 
Cmc of ihc. following is the prup<.T 
diiatrThution ol' pfcssan'c un the velaide 
wlu:eb ? 

"· Pt.,ssut-<o on both oulet .tnd inner 
wb~'cl• is cqu• l 

b. Prossurct on iruter w~oels fs more U!Jn 
the outer wheels 

c. Pl-cs•utt! on itutcr wbcd.s is IC8S Utau 
the outer wheel• 

d. Pt\!SSUI'e ou front wheels is ~lri.:<> d1e 
prcs!'um on r\!flf whe:ol3 

99. C01t$idct the following sllitcmcnt' re lated 
to interchanges 

l . lo d iamonJ inttrcllllngo th<'fC i.' ll1,. 
possibility of illegal wro ng- wny turns. 

2. Diamond in11.TCh•nge is far •Uporfot• to 
clovcrlenf design. 

Wh.ieh ollh~ stnl~tu~nts given nbove is/are 
COITC'Ct1 

n. I onl) 

h. 2 only 

c. Both 1 •nd 2 

cl. Ncithor I not 1 

tOO. Based on FuUor·s tna.~imum density 
.:riterion, for 4 mm mu 1naum size of •oil 
partltles, what i• lhe perccn~1ge Qf 
p;anicles between ~ mm and 2 "'"' hy 
\Wight'/ 

101 

-'' · 80 
b. 511 

c. ~0 

d. 20 

What lin) tlte mA.•imum v:a luo of' f'BR aod 
min imum v.:tuc nf GJ . of an~ mutcriol, 
respectively'! 

11. 100,0 

13 ol 15 
b. 100.20 
c. 50. s 
d. 10. () 

I 01 Consider the following stotemeots related 
lo Los Angeles Abrasion test on 
uggregotes 

1. lt ovalwuc.-; hnrdn.,;s of souJ'Ce - rock, 

2. lL h"" a codl'icienl of varoalion of 
obout 30 l""""'"l 

Which ofth< statement§- given above is!ne 
C<JIT® 7 

a. I only 

b. 2 Qnly 

c. 13oUI I ond 2 

d. Neither I n(lr 2 
I 03 A rond •ulf:tce j~ correcte4 by spreading a 

layer <lf dry $.and i11 " thiokl1<:s8 varying 
from :S mm to I 0 mm Md rolling l11e 
suofaoo by heavy rollers. \\11tch on~ of the 
following mnin1ennnce wor~ does 11 npply 
to' I 
a Repair of rut< and ratche.• 
l>. Rep:oiring of b low ups 

o. Rep;rir of b lc:uliug surface 

d. ~t'll i'18 ol'joinll! ond c-r11ck$ 

104. The weight of aggregate having SJ)O<itic. 
gl'avaty 2.65. completely tilled into a 
cylinder of volume: 0.003 m5 .i. 52 kg. 
WIIJt is l11e value of tl1e aogubrity indc:o; 
of oggregate (:approximotely) as given by 
MurdO<!k? 

" · I 
b. 0.34 

"' 0.15 
d. 0,05 

105 Which one of the following ,mterio is used 
lor ohtoaning fhe value nl' modulus of 
sul>gr•d<> reaction from plate bo:.uing lc$l 
da~a'/ 

a. Slope of pressure •cllletncnt grnpll 

b. Pressure corresponding 10 U1 e 
•ettlemenl of 1.25 mm 

c. l)eOocticm c'\rrespond ing 10 • pressure 
of 1,25 kj!lcm; 

d. Pressure corresponding to the 
••U lemenL of 1. 50 ouu 
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I 06. Wl1ich of the lbllowing factors are W!ed for 
.:alculaling lemper3ture •tres• at the 
~ritieal edge ro~ion in oigid pa\'emclit 
tltsi_gn ? 

J. Ma~imum tempo:ralure dilfete~1ce 
b!Jtwccn summer and \Vintcr 

2. Cocllicicnl Qf IJJerm• l expansion rof 
co.ncrelo 

3. Slnb lengU1 

4. Slab width 

Select the correct ~nswer us ing the rod~ 
given below 

u. Llond 3 

b. 2. 3 and 4 

.:. I :wd 2only 

ol I and 3 no I)' 

107. Match List I wiUo List 11 and sclod thu 
correct answer using I he code given below 
IJJe lists 

l,b1 · I (Type of\Vall) 

A. Parapet wall 

13. Cln:ck wall 

C. 131'C3st wall 
D. Gobion w:o II 

List - 11 (Fea tu re) 

I, Coll!llrUctcd with dr) SlOitC IDOSOUI'J' 

et~casod in wiro meoh 
2. To acld U•c overall slobility to the biU 

fucc 

3. To b utli'CSS u.e uphill stupes uf thu 
I'O•d ci'Os• - section 

4. To gi\'c: protc.ct.fon to thcs 1110hu isb 

,\ B c D 

a. 2 •I I 3 

b. ~ 2 l 3 

c. 4 2 J 

cl 2 4 3 

I OS, Emuls ion is used as a bindor in which tho 
following st11ges of .:onstrUctfon' 

L S urfncc dressing work 

2. Scaling open t<:X'turcU surfiociug 

3. Filling cracks in pavement 
~ . Prim~ c;<lnl 

5. f'n>-eoati:ng ofaggrogatcs 

Pul l ' 
Scle<~t the correct nnswer using the code 
given below 

•• I. 2.3 and 5 

b. 1, 3. -1 Jlnd 5 

c. l. 2 and 4 

d. I and 3 <mly 
10'). Mntdt List I W"ilh List ll and ••lcct lhc> 

con..,ct answer using the code given below 
Ute lists 

l,ist-1 (Sp•~d) 

A1 Space moan speed 

B. Journey •peed 

C. Rwmmg speed 

D. Spot • peed 

L i•t·ll (Appll~:~tion ) 

I. Road condillons studiQs 

2. Regulatory "'"a.•urc:s 

3. Traflic Oow li'hodies 

4 . Dclo y studies 

A B c 
•• ~ 2 
b, l .j. 3 

c. 3 4 

d. 2 3 

D 
4 

2 

2 
4 

I HI Which one of the liollowing methods is 
gen~raUy considered the best for tum1el 
venliJts:tion ? 

a. Driving a d•·illthrougb !be tunue l 

b. 'Blow in" method 

c . ---Blo\\' our metl1od 

d. Combination of 'Uiow iol' Mid 1Jh"1 
out' me1hods 

II L Which one of thoo following i~ nol n;h•tcd 
to theories of creep of rails '? 

a. \Vavc Utcory 

b. Percussion tloeory 

c, Drag d•eory 
d. Reversa l ibcory 

112. What is lhc slccpc:-' t grndiuot pennissibk 
on • 20 cui'\ e l(>r B.G. line having reeling 
gradient oft in 20H'I 
a. I in 250 

b. I iu 23~ 

c. I on ;!09 

Stu
de

nt
Suv

idh
a.

in

www.studentsuvidha.in

studentsuvidha.in/
studentsuvidha.in/


cL I m 198 

I 13. \Vlu~b ouo of following is not cotTool for 
conUiiner port• 'I 
<L ·n,c hct Ot cltp:tcity is !Peat 

b Oveull tronsit tlmc is less 

c. Thtre is rninimol dantagel<l c;orgo 

d. .Minimal land •• required for lho 
mar.hnll ing nrea 

114. Wbiclt one of follo11 fng ' lotemcnl' 
llllSOCiated •vith gn)ynes : 

I. l:lydroujjc behaviour of • wstem of 
groynes is influenced by the 
chot'acleristics of particles that 
IZ<lmlitutc tho Ullorol drill 

2. Groyne is constructed approximately 
plir.tllel to iltorc. 

Which oftltc: stntemenl< gi••t:Jl ahove tslotc 
correct 1 

•• l only 

h. 2only 

c. Both I 11nd 2 

1l N'eitbot· l oor 2 

US. What is tl1e wave wlocity for " onifonu 
trnin of wave boylhtd lhe.)lorm "'entre: for a 
wave length of20 m m l·l m deep water'? 

116. 

117. 

'L 5.5 mrs 

b. 11.2 mls 

c. 4.5 m/~ 

d. 9 m/s 

As lhc dcvatiun i n~.:reasl."'S. lhc ruuw>1)' 
length bitS to be changed ot wh• t rate? 

• · O..tre..sed @ 5"o p<r 300 111 1-isc Ju 
elevation a hove IllS L 

b. 'lltcreaaed fgt 7'l~ j)ar 3()(1 n• ri1c In 
elevotion above M.S.L 

c. Decre~se<l l1il 9'!u per 300 10 '"'" w 
cl~·vation obovc 1\•lS.L 

d. lnct-eased @ 1~0u t= JOO 10 l'isc in 
elevation above 1\•lSL 

Ass<:<ticm (A) • A di•~'rctc 

cliruucttT eli,) seltinj! iu 
••diment•t.ion lank l'nllm''S 
path, 

particle (ol' 
II circ.ulor 

" pnraholit.' 

Reason (R) : 'fho downward settling 
velocity (vo) of the discrete partie!~ (of 
diam~h:r tL1) in J circular sOOUucutnlion 
Unk doos not chongc w ilh lime. 

I S ul l < 

a. Both 1\ and R ate indiviclu•lly troc and 
R is tho corred e:(pl~n:ttion of A. 

b. Both A and Rare mdividually true but 
R IS not the con ecl explanatio.n of A. 

c, ;\ is tme but R is f.•t.c; 
d.. A is false but R is true 

118 1\.<~ertion (AI : Shc•r strt:ngth parameters 
of soud can be estitnstod bv conduoli.ttg 
uncontined compression test. 

Reason fR) : Th<> cff<>:tivo aJtglc of 
shearing resi$Ulnce of "$3.fld is nearly the­
same for thy lltld • aturnted sands. In 
drnlned condition. 

a. Both A and R ore individu• tlv tme and 
R is tlle correct e:<pl:mation of A. 

h. B<1th A .,.d Rare indi vidually orue ~ut 
R is oot U1c eotycot oxplanntion t>f A. 

c. A is tme hut R is ful<e 

d. A is tolst but R is true 

J 19. Assertion (A) : E.stituation of sctUemcnt of 
foundation• on sandy •oil< oan btt don~ by 
using SP1' volues, 

120. 

Reason (R) : Sampling- in coh,'lionh . .,.s 
soils withom disturbing the s lr\lcture )!; 
difficult, 

·a. Both A and lt are indivldna lly trne and 
R is tll<: COI'I'eCl e<pbnation or A. 

b. Boll• A and R 11re indlviduall} trUo but 
R is not the cotl'c-c.t explunatiQn of A. 

e- A i~ ln1e but R is fol<e 

d. ,\is false hut R is true 

Assertion (i\J . Th~ \~otcr conltnt uf 
inorganic soil!t is determined hy hollting 
the soi l in an oven al ::1 Lemperat·un:-of 105"' 
to 11()° C. 

Reason (R) ~ The ii'ee water. adsorbed 
w•ter & structurn I water nt•c all cumplete1y 
t•omov.:d from tl•c soil by h•ating itul 105• 
to 110V C. 

" · l3oU> 1\.111111 R arc individually true anti 
R is the cnm:ct l'l(planntion or t\. 

b. BoUt A aud R ore Indlvidualh tru" but 
R is not tho correct explnnntia'n of/\.. 

c, ;\ is tr\lC but R is lalse 

d. A is false but R is true 
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